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( Workout]

Question 1:  Convert the following lengths into centimetres {cm)

(@) 750m 79000N g 105m (0599 (g) p5m 2500 () gam §L0h

i) 153m 53¢ ) o6m 0cm (9 038m 3%m ) 003m Bem

Question 2: Convert the following lengths into metres (m)
() 300cm 37 (b) 700em Zv () 900cm dm (d) 1400em [4n
(e) 250cm & 5m (f) 740 em 74 m (@) 1000ecm [Jm (h) 348cm 3 *é)»zfm

(i) 80cm O-Fam () 70em O Fm (K 53em Q- %9m.) 2am & Onn

Question 3: Convert the following lengths into centimetres {cm)
(@) 60mm e (b) 30mm 3Bem (¢) 65mm b°Sem (@) 87 mm G-Fm
{e) 280 mm Zg(‘m (f) 812 mm §}.%s(g) 2030 mm 70Fa(h) 9000 mm § ¢ depe

@) 7mm @ Fem () 4mm O-Yppm (K) 13mm 013, (1) 0.6mm 0+ o p

Question 4:  Convert the following lengths into millimetres (mm)
(a) 2cm 20 mam (b) 6cm gUrM‘-"’ {c) 4.5cm 4§Mﬂ"\— (d) 92cm ‘?Q\Mm

(€) 13cm 2 m (f) 78cm Fomm () 124 cm 140m(h) 520 cm 3200 mon

() 05em #r () 0.2em (k) 08em _ () 016cm

Derpn A mm mm { ém oy
Question 5:  Convert the following lengths into metres (m)
(a) 4km4w‘9m (b) 9kmq000m (c) 13 el 2990 (d) 28km L¥O0m
(e) 125 kff > 000w ) 300%&000()”\' (g) 70(?00 Lifnowm (h) 7200 km 7 299 F0m
(i) 0.5 kff?&ﬂ (i) 0.8km geon (k) 1.2 krrﬁzmm () 2.6km 2800m.
(m) 007km 7 () 002k " (o) 0.006km  (p) 1008km [008m
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Question 6: Convert the following lengths into kilometres (km}
/ Lm §.5tm v
(a) 6000m gk’% (b) 2000 m (¢} 5500m (d) 6400 m { Qif/n

@ 800m 08k (5 soom 96l (g 50 m O oy 150 0:125kn

i 70m U0 E ) gom OO g 35 TOF Yy 4w 0-oohlr

(m) 90000 m (n) 40000 m (0) 340000'm  (p) 90530m
90km botr. 340l 9053 o

Question 7:  Convert the following lengths

7 ~ ZO&G’mm‘ L&
(a) 2 minto mm 0GGmr (b) 8 minto mm () 6500 mm into m b9 m

0LGlm

(d) 9000 mm intom Im (6) 48000 cmintokm  (f) 9250000 cmintokm 92°7 .

75, (10000 Lt ,
(&) 780 mmintom O 77" (h) 4kminto ca " (i) 1kmintomm [09000C e

() 25ﬂ'ﬂﬂﬁffifdmm into km (k} 0.5 km into cm (1) 0.023km into mm
7“’/9/-/5/@/\L (;OOGO(;M- 73000{”/)/\ .

Question 8: Convert the following into grams
(a) 2kg 7,0009 (h) 7 kg ?ooodf‘ (c) 19kg 15700?7 (d) 20kg 2’000?‘7
(e) 1.5kg /‘7003 (0 24kg P00 (g) 47kg b ?("z? (h) 0.5kg 90

(i} 0.8kg %Oﬁ (i) 0.16kg /Jaﬁ (k) 0.03kg 30j (1) 0.008kg 5(77

Question 9: Convert the following into kilograms

@ 70005 7 ) 30008 %7 () 12000312/? (d) 40000 g 40{9
(e) 3945g3“m‘q/ﬁ(f) 600 g Ooéff(c} (g) 850¢g 0”557{7 (h) 735g Ov??S@ '
() 60g 0‘0“‘0 0 758 007l @9 26 0-00% 1) 7818 0.07ky

Question 10: Convert the following into kilograms é;OO {
5000 oco 15060 5
(a) 5 tonnes (b} 8tonnes {c) 15 tonnes (d) 0.6 tonnes

/00 Jzs0t 390 (9

(e) 1.6tonnes (f) 9.25 tonnes (g) 03tonnes Y (h) 0.06 tonneﬂ
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Question 11: Convert the following into millilitres /
[ 100n! Lirgo0 | €/0n
(a) 2 litres 2000‘“/_ (b} 6 litres booon (© 24litres " (d) 1.8 litres 00

b (18 ml Fonl 05
(e) 06lires 7" (f) 0425 litres | (g) 0.07litres’  (h) 2.05 litres Unl

Question 12: Convert the following into litres

(2) 8000 ml (b) 3000ml ° " (c) 76000 ml (d) 750 ml
Ny . 088 . ”
(e} 540 ml 0oL ) 121 019 (g) 88ml v Z‘(h) 1035 ml |o35C

=3

Question 1:  Jackis 1.36 metres tall.
His friend lan is 5 centimetres taller than Jack.
What height is [an? Give your answer in metres.

14! .

Question 2:  Mary runs 600m every day. ) P
Work out how far Mary runs in one week. #1100 M
Give your answer in kilometres. é{_%ff‘
%00 -
Question 3: Karl is baking a loaf of bread and needs 0.8 k& of flour.
He has 72 grams of flour.
How much more flour does Karl need? '?2 &
Give your answer in grams. _________&
-

Question 4: James and Jack buy a 3 litre carton of orange juice.
Each boy drinks 650 ml of orange juice, [ 300m| > /s 3/
How much orange juice is left?

Give your answer in litres. fo 7L
T

S

Question 5: Rebecca has two dogs, Lucky and Pepe.
Lucky weighs 5.4 kilograms.
Pepe is 800 grams lighter than Lucky.
Work out how much Pepe weighs.

State your units. Z/n, //:?

| Question 6: A 2p coin has a mass of 7 grams. ‘ L o ‘
Find the total mass of £80 worth of 2p coins. Eeo0 - T = Goo0 coins
Give your answer in kilograms. Goo0 ¥ P - 2750003 )

2 & kg
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